W. W. Schaefer Engineering & Consulting, P.A. (CA #6809)
7480 150™ Court North
Palm Beach Gardens, FL. 33418
Phone (561)744-3424

ENGINEER’S EVALUATION REPORT #WWS-398

Prepared for:
Designer Products, LLC; dba Cambek Designer Doors

702 Troy Street
River Falls, WI 54022
Phone: 800-241-0525

Prepared by:
Warren W. Schaefer, P.E.

Florida Professional Engineer #44135

Manufacturer: Designer Products, LLC; dba Cambek Designer Doors

Product Category: Garage Doors

Evaluation Method: 1-D (Engineer’s evaluation)

Product model & name: 10°-6” Wide Impact Wood Garage Doors

Documents that must accompany this report:
1. W. W. Schaefer Engineering & Consulting drawing No. 1077

Door size & configuration restrictions and assembly requirements:
See drawing No. 1077

Maximum allowable design pressure:
+48/-65 psf

Installation requirements:
See drawing No. 1077

Code compliance:
Code section(s) considered with this evaluation:
FBC Chapters 17

Wood Coatings:
All wood members shall be of an approved durable species or be treated in an approved
method with an approved preservative per applicable codes and standards

Steel coatings:
Coating of steel components is galvanizing and complies with FBC.

Test Standards applicable to the testing of these doors:
TAS-201, 202 & 203




Test Laboratory: Architectural Testing, Inc. (ATI) (Currently known as Intertek Testing

Services NA, Inc.)

Test report numbers: ATI report No. 02-33027.01

Note: All HVHZ test reports have been signed & sealed by a Florida PE.

Compliance statement:

This product & its installations have been evaluated as required by the applicable Florida
product approval rule and the Florida Building Code (FBC) and are found to be in
compliance with each the rule, the Florida Building Code & all code required standards
referenced here-in.

General report notes & system limitations:

1.

All size, configuration & installation conditions shown in this report and the referenced
drawing No. 1077 are based off the referenced test reports and/or engineering analysis in
accordance with the Florida Building Code.

Garage doors shall be constructed in accordance with the descriptions in this report, and
the manufacturer’s state approved quality assurance entity specifications.

This product is approved for use in & outside of the High Velocity Hurricane Zones
(HVHZ).

Job required design wind pressure shall be calculated in accordance with the Florida
Building Code Chapter 16 and ASCE 7 Minimum Design Loads for Buildings and Other
Structures (0.85 directionality factor may apply per the current ASCE 7 standard).

These garage doors are both small & large missile impact rated for use in wind zone 4 &
missile level “D” locations and need not be shuttered.

Any change to this product’s components and/or assembly or its Florida approval without
the knowledge & consent of W. W. Schaefer Engineering & Consulting, P.A. and Warren
W. Schaefer, P.E. shall void this evaluation/certification and thus the products Florida
approval.

Quality Assurance Entity: Intertek Testing Services NA, Inc.

Disclaimers:

1.

The parts, components, assembly & performance of this product, and liability there-of are
the sole responsibility of the manufacturer and their quality assurance and shall be as
tested unless stated otherwise in this evaluation report or the uploaded approval drawing
No. 1077. Neither W. W. Schaefer Engineering & Consulting, P.A. nor Warren W.
Schaefer, P.E. claim any responsibility for said parts, components, assembly or
performance and shall be deemed responsible only for the evaluation of the product as
stated here-in.

DEC 0 7 2021




I = = — == TTHESE DRAWINGS ARE APPLICABLE ONLY TO THE PRODUCT||ORAWN BY: |CHECKED BY: I
ALLOWABLE DES’GN LOAD SPECIFIED. THEY MAY NOT BE USED FOR THE ASSEMBLY WW.S. WW.S.
EVALUATION OF THIS PRODUCT IS BASED ON APPLICABLE STANDARDS NCHOR/SUBSTRATE EVALUAION NOTE, O e N o, mi/OR. Looa. approvae I i=t6 | "o5y24/02 ||
ALL Al X -
THE FLORIA BUILOING.CODE VERSION CONCIDERED W THIS HAVE BEEN ANALYZED IN ACCORDANCE WITH POSITIVE NEGATIVE | |or s robucr hor eropucen o Toe MANUFACTURER [T =TT T T
EVALUATION WAS THAT IN FORCE AT THE TIME OF THE EVALUATION. IN "~ | THEIR APPLICABLE STANDARD(S) AND ARE FOUND ’ 48 PSF— 6 5 PSF— W S é § S SIR
THE EVENT OF CODE VERSION CHANGES/UPDATES OR IN THE EVENT TO BE CAPABLE OF SUPPORTING ALL LOADS SISIRISISISIS
THAT NEW OR ADDITIONAL TESTING IS COMPLETED ON THIS PRODUCT, » IMPOSED ON THEM UNDER THE GUIDELINES OF gi=|=|¥|=)"
PRIOR TO STATING CODE COMPLIANCE WITH THE STATE, THE THIS DOCUMENT. ANY SUBSTRATES OR 1=l=
by ), COCEL A I LRI B0 o o e e S o ser pouon  [FJE[EIEE[E]
CURRENT TESTING, CODES AND APPLICABLE STANDARDS. ENGINEER'S REVIEW & CERTIFICATION. L 5 1/4" DETAILS ON SHEET 4 || .,
=~ (TYP. ALL VERTICALS) - H AR
| AR 1HEHHHT
ol ” w
. o g o § g 2w
- zl218I513|&8|6
—— [+] o -l fé:
SEE SECTION CONFIGURATIONS ON SHEET——— "A_N” \ 7 4 AP
2 FOR MAKE—UP OF PANELS. _ATA y HHHHE 2 §
—1 1/2" o : 11/2" S[=]x[s]= =]
. 2 mwim o f=1 W u
ANGLE ANCHOR (SEE INSTALATION : — _ 126" MAX. DOOR WIDTH -l -
DETAILS ON SHEET 4) C BP” B 0
~— L - 5
9 1/2:74”/__ 3 7/16" +/" 8 —!D 8
i | r S|eE-38.
" = = = , ] 0l]9zv_un
i b oo, -
s 7 1 ' ' i g |E55 03
> / 41/2" <29 7/8" MAX. —sfe—— 28 5/8" MAX. —wfme— 28 5/8" MAX. —=t{=— 29 7/8" MAX. 4 1/2"  MAX. Sledazd
3 ” L
£ 1) | . I 25 3/8 o |EER. 8
sk ose |1 IN\—1/4-20 BoOLTS SEE DETAIL 2 ~—3 1/16 3 1/18" —— | T0 Slex U
~ T | I (2 PER TRACK |  ON SHEET 3 [
* | 1| SECTION E)ND ‘\_@ =1 /@ : B 5108
TO ANGLE “ 2l
— ot \* A ~ === x g
. 1 Y73 $its = |2
e e O W Ee— T =]k
2|1 | Y Y LT
- ‘ T s I : 8" ®m o
I : (TYP_AT - - i MAX. 18" & e
|_ib—ADDITIONAL ALL SEAMS) sl /@ /@ gﬁE S#E%D‘g HINGE | DETAIL - P 0w £l 02
—EF  1/4-20 BOLT P ) . 223/8" o | 2| 28
| 1| SECURING # x 7 x ZO o
; : w Wil wg . 3
vil [ mEE | (B s oo i & . L5 || £
T = {\ | l/—ON SHEET 3 ,# V¥ {;7 ks f N7 2< =
' '\@ et N T i = e MAX. 18" X Dl " 523
—= | SEE "EDGE_HINGE DETAIL" | | SEE "SLIDE LOCK DETAIL ‘FB o~ |o| Bgiss
L ON SHEET 3 ON SHEET 4 ul o e | 2 GE S
X :E - = ¥ - n gg ;g%
— ' [ 7] m X
= L =)/ A A - A - D s [o2ES
1o % : % e %;8 g
‘*‘———EE SEE SECTION — \ 2 [ | , 1 E g
| CONFIGURATIONS \ s —F - 7.
2 % | L ON SHEET 2 ‘ \@ R RS
2 | I FOR MAKE-UP N § MAX, S
| OF PANELS . c 1| I ! = 25 3/8" F @ :
r:{:j 12 3/8" MAX. )4 N _ TO o e e
SRR "~ 75 = —= 29 1/2n = ‘ %\%ﬁ I
R ° [ 3 < ) 5
] L E ——+ {a e | —see pemal 3 ° 3 1%
= [ e—— oy, o o ON SHEE.T 3 o o o 4 Mt - j
~ Eﬁ , l oo, ° o4 l 2 A
o 12 174 El=2% = B
NN - ~—7 N0 INTERIOR _ELEVATION B s MM
N — A — © "o [T
1= ” 5 1/8"= "B—R” NOTE: DOOR HEIGHT MAY BE INCREASED BY UP TO 22 3/8” INCREMENTS | AT
C—-C S = i =1 ‘ PRVIDING ADDITIONAL CENTER PANEL(S) IS PLACED. 1 o 4




5 1/4" —=i

126" MAX. DOOR WIDTH g 3/ /8, THK. WOOD FRAME MEMBERS 126" MAX. DOOR WIDTH e, | s,
. 5 1/4" 5 1/8" —| | 5 1/4" WIDE_AT VERTICAL PERIMETERS o [oRE
{ ) & INTERMEDIATES; 5 1/8" WIDE AT /~DOOR FACE iz | os/z/02
TOP & BOTTOM HORIZONTALS; 2 1/2" / I N
1 MAX. WIDE EACH SIDE OF HORIZONTAL PANEL V VAX. g
I I PP , % 38 SEAMS) 25 3/8°
30" 1 3/8" POLYSTYRENE 0" 5
= INSULATION -
- N W?w" % (1 /4" SUPER-PLY PLYV;/OOD - g 3
A . =3
oRAN 1022 3/8% SECURED TO THE PANEL FRAME 0 22 3/8" - |IB
i & & STILES WITH GLUE & g |8
I . STAPLES (TYP.) 4 5
DOOR MAX. 18" = " MAX. 18" )
. H—MIN. 9/16" THK. g
FACE T0 22 3/8" = =
| \ F V-GROOVE WOOD FACE 1022 /8" |l
| = % (MIN 4" WIDE STRIPS) ol 5
[o2] » »
] , e 2" WIDE BASE STRIP \ . . . |
. ty
s /4" 10 TYP. V—GROOVE PANEL 2" BLENDED BOTTOM BOARD =4 0
29 1/2 (V-GROOVE MAY RUN IN ANY DIRECTION) , 29 ;/2" " %8 ~
7 o o
o) - o
TYP. RAlSED1 PANEL f TYP. FLAT PANEL Q g&i 5;&’3 X
» ZYV)_un
EXTERIOR ELEVATION : 126" MAX. DOOR WIDTH EXTERIOR ELEVATION w 22,59
DOOR FACE oo .~
1 3/8" THK. WOOD FRAME MEMBERS 1 3/8" THK. WOOD FRAME MEMBERS g o 95(_”_'(‘\‘,“
(5 1/4" WIDE AT VERTICAL PERIMETERS ! (5 1/4" WIDE AT VERTICAL PERIMETERS f| O | ~ T I
& INTERMEDIATES; 5 1/8” WIDE AT MAX, & INTERMEDIATES; 5 1/8" WIDE AT o |u@me™ 3
TOP & BOTTOM HORIZONTALS; 2 1/2" ' BYE TOP & BOTTOM HORIZONTALS; 2 1/2 8183
WIDE EACH SIDE OF HORIZONTAL PANEL 30" VSVE%S%ACH SIDE OF HORIZONTAL PANEL || = I3 G =
= = |00
O 0
- » «
1/4" SUPER-PLY PLYWOOD , LI, 1 3/8" POLYSTYRENE o
: £ INSULATION s I3
(INTERIOR FACE & EXTERIOR) 0 22 3/8" . n =12
SECURED TO THE PANEL FRAME / i _—1/4" SUPER-PLY w B
& STILES WITH GLUE & € PLYWOOD (INTERIOR z
| \ STAPLES (TYP.) % FACE) 3
MAX. 18" = I ’c-»\
i TO 22 3/8" = _——1/4" SUPER—PLY ~t— o
\: 1 3/8 = Hlewoos 2| 28
POLYSTYRENE o EC o
INSULATION ol L MIN. 1/2" THK, ~—— Wl ows 3
25 38" PRIMED MDO PLYWOOD s| 575.%
0 ‘ Z<L 25D
" ‘ . S TO THE PAN T ol kyy
| MIN 3/4” THK. RAISED PANEL / 29172 PRAME & STILES WiTh Tl ™355
WITH 3/4” THK. FACE BOARDS. A4 TYP. FLAT PANEL GLUE & STAPLES (TYP.) o LS 33
SECURED TO THE PANEL FRAME TYP. V—GROOVE PANEL | ¥E 8:z4
& STILES WITH GLUE & — 2%5 -1
STAPLES (TYP.) . . EXTERIOR ELEVATION z02 850
GENERAL NOTES: (V—=GROOVE MAY RUN IN ANY DIRECTION) 2 |3=8 ¢
IR LT F
1. THIS PRODUCT HAS BEEN TESTED, ANALYZED & APPROVED FOR DESIGN PRESSURES NOT TO EXCEED THOSE SHOWN IN THE "ALLOWABLE DESIGN PRESSURE TABLE(S)". »@@. %‘% §; : F 8 ;‘3
2. OPENINGS, BUCKING & BUCKING FASTENERS MUST BE PROPERLY DESIGNED & INSTALLED TO TRANSFER WIND LOADS TO THE STRUCTURE. Q:&" %g’:' * {e.‘f /< T4
TYP RAISED PANEL 3. ALL HARDWARE & FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS & SHALL NOT VARY UNLESS SPECIFICALLY MENTIONED ON THE DRAWINGS. SPECIFIED ANCHOR EMBED TO BASE a&e ‘{, b BREERG, ‘“;;M wi
e M s MATERIAL SHALL BE BEYOND WALL FINISH OR STUCCO. e \Z%‘“ﬂ»“* g o
4. THIS PRODUCT HAS BEEN DESIGNED IN ACCORDANCE WITH AND MEETS THE REQUIREMENTS OF THE FLORIDA BUILDING CODE (FBC) INCLUDING HIGH VELOCITY HURRICANE ZONES (HVHZ) & IS ;’;f g‘;} *»*Q/ 9] f?f 0
LARGE MISSILE IMPACT RATED. = oy se o wlfEe 50 P
5. IMPACT SHUTTERS ARE NOT REQUIRED WITH THIS PRODUCT. - T ¥ o A L
6. EALLO/?)NCHORS SECURING PRODUCT FRAMES TO PRESSURE TREATED BUCKS OR WOOD FRAMING SHALL BE CAPABLE OF RESISTING CORROSION CAUSED BY THE PRESSURE TREATING CHEMICALS iN o= gﬁg <F ﬁg g’ ‘%@ Sd
THE WOOD. a % b I
7. DETERMINE THE POSITIVE & NEGATIVE DESIGN LOADS TO USE WHEN REFERENCING THESE DOCUMENTS IN ACCORDANCE WITH THE GOVERNING CODE AND GOVERNING WIND VELOCITY. FOR WIND = «g‘.%;fﬁ ;l?’i;} é;; =t &"%‘ wz
LOAD CALCULATIONS IN ACCORDANCE WITH THE FLORIDA BUILDING CODE, A DIRECTIONALITY FACTOR OF Kd = 0.85 MAY BE APPLIED PER THE ASCE-7 STANDARD. “i'} \}3 %@ % S, Fuj
8. MATERIALS, INCLUDING BUT NOT LIMITED TO STEEL SCREWS, THAT COME INTO CONTACT WITH OTHER DISSIMILAR MATERIALS SHALL MEET THE REQUIREMENTS OF FLORIDA BUILDING CODE. “f;e- {g” e . "ia,: Eﬁ;
9. TO THE BEST OF OUR KNOWLEDGE, THE PRODUCT SHOWN HEREIN IS QUALITY ASSURED BY A FLORIDA STATE APPROVED CERTIFICATION/QA ENTITY & SHALL BE LABELED IN ACCORDANCE WITH ﬁf, (7 Vit { N |
THE FBC AND THE FLORIDA DEPARTMENT OF BUSINESS & PROFESSIONAL REGULATION SPECIFICATIONS. THESE DRAWINGS SHOW ALL APPLICABLE ELEVATION, COMBINATION, INSTALLATION & «{1 . ?‘% K g Dy
COMPARATIVE ANALYSIS CONDITIONS AS DETERMINED THROUGH TESTING & ENGINEERING RATIONAL ANALYSIS. PRODUCT ASSEMBLY SHALL BE IN ACCORDANCE WITH THESE DRAWINGS, THE i i 14 %
MANUFACTURER'S QUALITY ASSURANCE SPECIFICATIONS & TESTING REPORTS. bt TN N L
10. CERTIFICATION OF THIS PRODUCT SHALL BE CONSIDERED VOID IF IT IS INSTALLED WITHOUT A BUILDING PERMIT FROM THE APPLICABLE LOCAL BUILDING DEPARTMENT OR IF IT IS INSTALLED BY : :
ANYONE OTHER THAN A LICENSED CONTRACTOR EXPERIENCED WITH INSTALLATIONS OF THIS TYPE OF PRODUCT. 1077 F
11. ALL WOOD MEMBERS OF THIS PRODUCT THAT MAY POSSIBLY COME INTO CONTACT WITH MASONRY OR CONCRETE SUBSTRATES, ARE SUBJECT TO MOISTURE &/OR ARE SUBJECT TO THE OUTSIDE SHEET NO.
ENVIRONMENT SHALL BE OF AN APPROVED DURABLE SPECIES OR BE TREATED IN AN APPROVED METHOD WITH AN APPROVED PRESERVATIVE PER FBC REQUIREMENTS. 2 oF 4




GZS0—1¥Z2—-008
Z20%S IM 'STIV4 ¥3AIY

1S A0dL 20

SHO0d ¥3INOIS3IA MIFWVI pPqp
OT1 ‘SLONA0Yd MANIISIA yayniovannwn

YCYE-PL—- 198 ‘3INOHd
LPEC 14 “SN3IQHYD HOVIS Wivd
HIYON 1dN00 HIOS! 08YvL

(6089 VO) ‘V'd ‘ONILINSNOD %® "
ONINIINIONT ¥3JIVHOS ‘M ‘M @@M
SINVLINSNOD |} At

& | s
o9l
& |z°
=ms -
z3|.*
W m 3iva A8 NOILdINOSIA NOISIAZY "ON
| === —
L
" I.*I o
oOo =z _ - |
) g <
© X =
« IS 8
_ » sz's 0L =
SZ'¥ SY3dvl 6 *

SYO0A 3JOVHVO QOOM LOVAWI INVOIRMMNH 3dIM ,.9-.0L

R=0.31

~— Q1 °C
| lll._
o I 7o) o
o & o 5 3
M | o = m
o N | o — O
e i 8 i m
= I i oM
008 m - “
o | i E
a8 | | @
: S 3
@ i T | w
I~ i o 1M =
- - ic |22 O
| @ s | Ne E
¥ o ™ | S - o
w __
. oSl \ | {4} =
-~ .@aym@ mw@ /‘I_nm @
] 1] Lo
> SRR
o i Q
1 i ~ o
* —|.'!“‘tl H o _M

lllllllllllllll

MIDDLE HINGE DETAIL

1.500 —=
0.680

13

SClyy ON 3d
‘3'd HAIIVHIS MININEYM

@* )
SISO et o
,@Wuw%% fva o

LD

g

4

/

HEET NO.
OF

ll___i ,

Bwgg, 4

® © © o

2.97

@ ADJUSTABLE TOP BRACKET

1,739 ——

4.25 OR 5.00

—

f——~ 0.630

@ HURRICANE BRACKET

D=O.28——/ |~ 2.000 ——

DETAIL 2

e @ DETAIL 3

S

~— 0GL

0.250

V1

DETAI

| 0ZLL e
]
(@]
o
w
S p—
_Iv' et m
R S
"G O
nZ 8 x
- &5 O
Lo M L
g3 =
oo (|
=< %IR
—
r%\room;b“ @
[+o]
M
4
S
L] _
- E
=8
mR
—
o -l
o3 =
- . RS
~ @ it
™~ —
n 8o
2 g<
A IrN®




2 /8" DIA POWERS POWER-STUD TEM #]  PART TEM DESCRIPTION | MANUFACTURER/NOTES  [[PRA B JeHEcien e
. — " TE:
MIN (3) 2X__ STUDS » SéT, POWERS POWER-STUD SD2, 1 |1030-0269| ROLLER PARTS % NARDWARE NYLON W/AISI 1045 STL. ROD PLDT1=4 D‘::)g/u/oz
 REGUIRED BY OTHERS —— =—3/4" MIN.  POWERS WEDGE BOLT SCREW __| 3" | 2__[1030-0213[3" REINFORCING STRUT GALV. 80 KSI STEEL "
—\ A ANCHOR, HILTI HUS—H SCREW MIN. 3" |1930-0267] HURRICANE BRACKET GALV. 36 KSI STEEL F
5/16" LAG BOLT WITH \/ é)tjg:rx?sﬁogRASICLPI::)F;(V\?SFNBOEL!\;BéD T 4 |1030-0123| SINGLE_ROLLER HINGE GALV. 36 KSI STEEL
MlN. 2 1/2" FRAMING _\ » . : 5 }8%8:8}%% DOUBLE ROLLER HINGE GALV. 36 KS! STEEL E
EMBED TO PENETRATE e INTO SUBSTRATE = 3") ~ 6 [1030-0084|BOTTOM CABLE BRACKET GALV. 36 KSI STEEL
EITHER OF THE FRAMING — B 7 |1030-0237]| ADJUSTABLE TOP BRACKET GALV. 36 KSI STEEL z
STUDS (PREDRILL 3/18" OPTIONAL TRIM PIECE 8 |1030-0065| TRACK ANGLE (TAPERED) GALV. 33 KSI STEEL £
DIAL HOLE IN FRAMING) % 9 |1030-0227|VERTICAL TRACK (HORIZ. TRACK SIMILAR) |GALV. 33 KSI STEEL g
NOTE: CONCRETE MUST N S 10 |1030-0063] HORIZONTAL REINFORCEMENT ANGLE GALV. 33 KSI STEEL a
OPTIONAL TRIM PIECE ——| [] BE MIN 2000 PSI T MISCELLANEOUS FASTENERS A >
- =l 11 - 1/4 X 1 1/2 HEX WASHER HEAD LAG SCREW ALIGNED WITH HINGES PER ELEVATION %
: 12 - 3/8-16 BOLY 2 AT EACH TOP BRACKET o
= 13 - 1/4-20 X 5/B RIB NECK TRACK BOLT 1 PER HURRICANE BRACKET T0 TRACK @
: : >>: g g ;t: >—>_—<< : s 5 14 - 1/4 X 1 1/2 HEX WASHER HEAD LAG SCREW 8 PER TOP BRACKET 3
S = 3 S 15 - 1/4 X 1 1/2 HEX WASHER HEAD LAG SCREW 4 PER HINGE (6 PER EDGE HINGE) Z
E><"\ ; ; /2><~~\ 16 - TRACK ANCHOR AT TOP & BOTTOM OF TRACK ANGLE | PER INSTALLATION DETAIL W/O BRACKET «
17 - 1/4-20 X 5/8 RIB NECK TRACK BOLT 4 AT TRACK SEAM (TRACK TO ANGLE) "
18 - 1/4 X 1 1/2 HEX WASHER HEAD LAG SCREW 10 PER BOTTOM CABLE BRACKET " &
19 - 1/4 X 1 1/2 HEX WASHER HEAD LAG SCREW 4 PER SUDE LOCK QO
LOCKING HARDWARE " w138 ¥
9 @ 22 [1030-0199]SLIDE LOCK . [STEEL 1018 ZINC PLATED 8 Ao g "
INSTALATION DETAIL INSTALATION DETAIL , PANEL NOTES: W §§‘:§8
DIRECT TO WOOD FRAMING DIRECT TO FILLED BLOCK 1. HORIZONTAL & VERTICAL FRAME .MEMBERS ARE EDGE % ol o L
OR SOLID CONCRETE COPED, BUTTED TOGETHER & GLUED WITH "GORILLA GLUE.” € |Foray,
e IN ADDITION, THE VERTICAL MEMBERS ARE SCREWED TO S PO ~F |
THE HORIZONTAL WITH 2 NO. 8 X 2" SCREWS ANGLED o |uBe8
FROM THE BACK FACE OF THE DOOR. S|183 &©
" _ 2. SUPER-PLY PLYWOOD IS STAPLED TC THE FRAME WITH =loo =
MIN. (4) 2X_ STUDS %? ggAwE;gwggstZ%ﬁ:—stggg . 18 GA. X 1 1/2" X 1/4" STAPLES AND GLUED WITH. N
REQUIRED BY OTHERS 3/4" MIN POWERS WEDGE BOLT SCREW - CHEMREX 948 URETHANE ADHESIVE. QL 2
— Y ' ANCHOR. HILTI HUS—H SCREW 37 , 3. THE EXTERIOR PANEL/STRIPS ARE ATTACHED TO THE o
5/16" LAG BOLT WITH — 1777777 ANCHOR OR HILTI KWIK—BOLT 3 MIN. SUPER-PLY AND FRAME WITH 18 GA. X 1 1/2" X 1/4 g
MIN. 2 1/2" FRAMING -\\ 4 EXPANSION ANCHOR (MIN. EMBEDA =] STAPLES AND CHEMREX 948 URETHANE ADHESIVE. i tg
EMBED TO PENETRATE /] (,, : : 4. EXTERIOR FINISH WOOD (PANELS/STRIPS) USED WITH <Z( g
EITHER OF THE FRAMING X INTO SUBSTRATE = 3") ——_| ALL TEST SPECIMEN WAS NO. 3 WESTERN CEDAR. - OTHER o :
STUDS (PREDRILL 3/16" MIN. 2X6 NO. 2 WOODS APPLICABLE FOR USE WITH THESE DOORS IS MIN. x w§
DIAL HOLE IN FRAMING) q SOUTHERN PI.NE NO. 3 OAK, CHERRY, MAHOGANY, POPLAR, YELLOW PINE, 2] zo
I\ PT REDWOOD, SPRUCE, FIR, MAPLE, DOUGLAS FIR, BIRCH, TEAK, || T ﬁ‘o ©
MIN. 2X6 NO. 2 2 o HICKORY & CYPRUS OR NO. 2 ASPEN, WESTERN PINE, ‘5’ ug 3
SOUTHERN PINE N\ W OPTIONAL TRIM PIECE EASTERN PINE AND PONDEROSA PINE. S| 57&"%
P.T. N\ 5. IT IS THE OPTION OF DESIGNER DOOR TO INCORPORATE i S
N z NOTE: CONCRETE MUST AN INTERIOR FINISH FACE ON ANY DOOR. THIS FACE SHALL || © o 223
OPTIONAL TRIM PIECE — | [N H | BE MIN 2000 PSI BE EQUAL TO THOSE EXTERIOR FACES APPROVED PER THE J Bis 82t
DETAILS ON THIS DRAWING AND BE SECURED TO THE DOOR || 2 | ijZ 238
IN THE SAME MANNER AS THE EXTERIOR FACE. THIS £5 25y
= " = INTERIOR FACE SHALL BE AN ADDITIONAL LAYER AND SHALL 202 282
m >< : M ><§ NOT REPLACE ANY LAYER SHOWN IN THE DETAILS ON THIS £ Z33
=3 : g SHEET. ALSO, ALL HARDWARE LAG SCREWS SHALL BE 20 &
l LENGTHENED TO MIN. 2 1/4" TO ALLOW FOR THE ADDITIONAL |k 53-,3
THICKNESS OF THE ADDED INTERIOR SKIN. -
SARLLEEY | —_
Wer kol S
%ﬁ% @{{ " GuEALe Heazjfan, T8 mR
INSTALATION DETAIL INSTALATION DETAIL ST w - |F
SHIMMED TO WOOD FRAMING SHIMMED TO FILLED BLOCK SHi2 2 & N ?g
OR_SOLID CONCRETE T TR E &
e Y SER
fw \}} *&“ {‘ <
SLIDE LOCK DETAIL Py S =
' “y 5",’/‘;? & ?gﬁ% . DRAWING NO. JREV.
(MAY BE LOCATED AT %447 1077 F
: Frpgaent
EITHER SIDE OF DOOR) , ‘ SHEET NO.

4 o 4




